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39. 4 0 39. 0 7. 00 0. 00 2.50
Ve R 7.00 0. 00 3.00 2. 50 100. 0 0.0 0. 100. 0|7 A7 7 )L b il
39.5 0 39. 0 7. 00 0. 00 2.50
Ve R 7.00 0. 00 3.00 2. 50 52.0 0.0 0. 52.0(7 A7 7 /L bk
39. 6 0 39. 52 7. 00 0. 00 2.50
Ve R T 3.50 0. 00 3.00 14. 30 0.0 0.0 24. 24. 6|7 A7 7L MEREE i mis
39. 6 52 39. 77 3. 50 0. 00 11. 00
Ve R HE T 3.50 0. 00 3. 00 2. 50 23.4 0.0 0. 23. 4|7 A7 7L b
39. 6 77 39. 0 3. 50 0. 00 2.50
Ve AR HE T 3.50 0. 00 0. 00 3. 00 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bl
39.7 0 39. 0 3. 50 0. 00 2.50
3.50 0. 00 0. 00 3. 00 100. 0 0.0 0. 100. 0| 7 A7 7 /v MadE |50 7@
10. 4 0 10. 0 3. 50 0. 00 2.50
3. 50 0. 00 0. 00 2.50 100. 0 0.0 0. 100. 0|7 A2 7 7 b hi%E (507
10. 5 0 10. 0 3. 50 0. 00 3. 00
3.50 0. 00 0. 00 2. 50 100. 0 0.0 0. 100. 0| 7 A7 7 /v hadE |50 7@
10. 6 0 10. 0 3. 50 0. 00 3. 00
3.50 0. 00 0. 00 2. 50 100. 0 0.0 0. 100. 0|7 A7 7 )L &R |50 7@
10. 7 0 10. 0 3. 50 0. 00 3. 00
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3.50 0. 00 3.00 2.50 32.0 0.0 0.0 32.0|7 A7 7 v ML |50 7m
10. 8 0 ~ 10.8 32 3. 50 0. 00 3. 00
Ve R HE T 3.50 0. 00 3.00 2.50 0.0 0.0 28. 7 28. 7|7 A7 7 v Nl |1 Cc o0 TG
39.9 98 ~ 40.0 26 3. 50 0. 00 2.50
Ve IR R T 3.50 0. 00 0. 00 2.50 86.0 0.0 0.0 86. 0|7 2 7 7 /L ki
39.8 0 ~ 39.8 86 3. 50 0. 00 2.50
Ve R T 7.00 0. 00 4.50 2. 50 0.0 0.0 18.9 18.9|7 A7 7 /b MNii%E [ 1 C 3 546
39.8 86 ~ 39.9 5 11. 25 0. 00 2.50
Ve R 10. 73 0. 00 4.50 2. 50 97.0 0.0 0.0 97.0| 7 A7 7 /L b &Lk
39.9 5 ~ 40.0 2 11. 25 0. 00 2.50
Ve R 14. 45 0. 00 4.50 2. 50 0.0 0.0 26.7 26. 7|7 A7 7 v NEEE |
40.0 2 ~ 40.0 28 11. 25 0. 00 2.50
Ve R T 3.50 0. 00 0. 00 1.75 505. 0 0.0 0.0 505. 0|7 & 7 7 /b | fi%k
40.0 28 ~ 40.5 33 3. 50 0. 00 1.75
Ve R HE T 3.50 0. 00 0. 00 1.25 0.0 0.0 52.9 52.9|7 A 7 7L bAHEE | sk
40. 5 33 ~ 40.5 86 3. 50 0. 00 1.25
Ve VAR HE T 3.50 0. 00 0. 00 1.75 326.0 0.0 0.0 326.0|7 A7 7 /L %
40.5 86 ~ 40. 8 12 3. 50 0. 00 1.75
Ve L R T 3.50 0. 00 0. 00 1.15 0.0 0.0 111. 4 111. 4|7 27 7 v NLE |ahiesais
40. 8 12 ~ 40.9 23 3. 50 0. 00 1.15
Ve AR HE T 3.50 0. 00 0. 00 1.75 304. 6 0.0 0.0 304. 6|7 A 7 7 L NaidE
40.9 23 ~ 41.1 4 3. 50 0. 00 1.75
Ve IR R T 3.50 0. 00 0. 00 1.00 0.0 0.0 348.0 348.0[ 7 A 7 7 v NEHEE [ kA6
41. 1 4 ~ 41.4 52 3. 50 0. 00 1. 00
Ve R T 3.50 0. 00 0. 00 1.75 76. 0 0.0 0.0 76.0[7 A7 7 /L b A%k
41.4 52 ~ 41.5 28 3. 50 0. 00 1.75
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Ve L R T 3.50 0. 00 0. 00 1.63 0.0 0.0 22.5 22.5|7 2 7 7 v MNEEE | mig
41.5 28 ~ 41.5 50 3. 50 0. 00 1.63

Ve R HE T 3.50 0. 00 0. 00 1.75 64. 0 0.0 0.0 64.0|7 27 7 L s
41.5 50 ~ 41.6 14 3. 50 0. 00 1.75

Ve R T 3.50 0. 00 0. 00 1.25 0.0 0.0 133.0 133.0|7 27 7 /b MEREE |69 miG
41.6 14 ~ 41.7 47 3. 50 0. 00 1.25

Ve R T 3.50 0. 00 0. 00 1.75 93.0 0.0 0.0 93.0|7 A7 7 /L b &Lk
41.7 47 ~ 41.8 40 3. 50 0. 00 1.75

Ve R 3.50 0. 00 0. 00 1.13 0.0 0.0 74.5 74.5|7 A7 7L bEHLE (MG
41.8 40 ~ 41.9 15 3. 50 0. 00 1. 19

Ve R 3.50 0. 00 0. 00 1.75 57.0 0.0 0.0 57.0(7 A7 7 /b bk
41.9 15 ~ 41.9 72 3. 50 0. 00 1.75

Ve R T 3.50 0. 00 0. 00 1.75 0.0 0.0 14. 0 14. 0|7 A7 7 v MaiEE [ 7 wim
41.9 72 ~ 41.9 86 3. 50 0. 00 1.76

Ve R HE T 3.50 0. 00 0. 00 1.75 489. 0 0.0 0.0 489. 0|7 A 7 7 )L kit
41.9 86 ~ 42. 4 75 3. 50 0. 00 1.75

Ve R R HE T 3. 50 0. 00 0. 00 0.75 0.0 729.0 0.0 729.0(7 A7 7 v MEEE [#pE L2
42.4 75 ~ 43.2 4 3. 50 0. 00 0.75

Ve IR R T 3.50 0. 00 0. 00 1.75 56. 0 0.0 0.0 56. 0|7 2 7 7 /L [k
43.2 4 ~ 43.2 60 3. 50 0. 00 1.75

Ve AR HE T 3.50 0. 00 0. 00 1.75 0.0 0.0 18.5 18. 5|7 27 7 /v Mt s
43.2 60 ~ 43.2 79 3. 50 0. 00 1.75

=4 RE ] 3.50 0. 00 0. 00 1.75 96. 0 0.0 0.0 96. 0| 7 2 7 7 )L I
43.2 79 ~ 43.3 75 3. 50 0. 00 1.75

Ve R T 3.50 0. 00 0. 00 1.75 0.0 0.0 50. 0 50. 0|7 A 7 7 /L MEEAE 1w
43.3 75 ~ 43.4 25 3. 50 0. 00 1.75
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Ve L R T 3.50 0. 00 0. 00 1.75 390.0 0.0 0.0 390. 0|7 A2 7 7 /b |k
43.4 25 ~ 43.8 15 3. 50 0. 00 1.75

Ve R HE T 3.50 0. 00 0. 00 1.75 0.0 0.0 45.0 45. 0|7 A7 7 )b MEEEE | s
43.8 15 ~ 43.8 60 3. 50 0. 00 1.75

Ve IR R T 3.50 0. 00 0. 00 1.75 75. 0 0.0 0.0 75. 07 2 7 7 L bk
43.8 60 ~ 43.9 35 3. 50 0. 00 1.75

Ve R R T 3.50 0. 00 0. 00 1.75 0.0 0.0 45.0 45. 0|7 A7 7 )b b EREE |2 A4G
43.9 35 ~ 43.9 80 3. 50 0. 00 1.75

Ve R 3.50 0. 00 0. 00 1.75 440. 0 0.0 0.0 440. 0|7 A 7 7 7L b ik
43.9 80 ~ 44.4 20 3. 50 0. 00 1.75

Ve R 3.50 0. 00 0. 00 1.75 0.0 0.0 39.5 39.5| 7 A7 7L N | T AL miE
44.4 20 ~ 44.4 60 3. 50 0. 00 1.75

Ve R T 3.50 0. 00 0. 00 1.75 67.0 0.0 0.0 67.0|7 A7 7 /L bk
44.4 60 ~ 44,5 2T 3. 50 0. 00 1.75

Ve R HE T 3.50 0. 00 0. 00 1.25 0.0 0.0 55.0 55.0| 7 A 7 7 /L M | TrBiE
44.5 27 ~ 44.5 82 3. 50 0. 00 1.25

Ve AR HE T 3.50 0. 00 0. 00 1.75 658. 0 0.0 0.0 658. 0|7 A 7 7 /L kit
44.5 82 ~ 45.2 40 3. 50 0. 00 1.75

Ve IR R T 3.50 0. 00 0. 00 1.13 0.0 0.0 92.0 92. 0|7 27 7 v NEEE [mists
45.2 40 ~ 45.3 32 3. 50 0. 00 1.13

Ve AR HE T 3.50 0. 00 0. 00 1.75| 2,250.0 0.0 0.0 2,250. 0|7 2 7 7 /L Mk
45.3 32 ~ 47.5 82 3. 50 0. 00 1.75

Ve R R T 3. 20 0. 00 0. 00 1.55 0.0 0.0 27.5 27. 5| HEA P Al 2k INTEG
47.5 82 ~ 47.6 10 3. 40 0. 00 1. 50

Ve R R T 3.50 0. 00 0. 00 1.75 90.0 0.0 0.0 90. 0|7 A 7 7 /L b &k
47.6 10 ~ 47.7 0 3. 50 0. 00 1.75
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Ve L R T 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0|7 2 7 7 L | édidE
47.7 0 47. 0 3. 50 0. 00 2. 00

Ve R HE T 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0|7 2 7 7 L s
47.8 0 47. 0 3. 50 0. 00 2. 00

=4 RE ] 3.50 0. 00 0. 00 2.00 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
47.9 0 48. 0 3. 50 0. 00 2. 00

Ve R T 8. 00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
48.0 0 48. 0 11. 00 0. 00 2. 00

Ve R 6. 00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0|7 A 7 7 )L bl
48. 1 0 48. 0 5. 00 0. 00 2. 00

Vg R 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0|7 2 7 7 /L b Eifidk
48.2 0 48. 0 3. 50 0. 00 2. 00

Ve R T 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0|7 2 7 7 )L b &l
48.3 0 48. 0 3. 50 0. 00 2. 00

Ve R HE T 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
48. 4 0 48. 0 3. 50 0. 00 2. 00

Ve VAR HE T 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bk
48.5 0 48. 0 3. 50 0. 00 2. 00

Ve R R T 3.50 0. 00 0. 00 2. 00 49.0 0.0 0. 49.0| 7 A2 7 7 v ks
48. 6 0 48. 49 3. 50 0. 00 2. 00

Ve AR HE T 3.50 0. 00 0. 00 1.13 0.0 0.0 258. 258. 0| 7 A 7 7 L NaEEE | FopayiE
48.6 49 48. 8 3. 50 0. 00 1.13

Ve R R T 3.50 0. 00 0. 00 2.00 47.0 0.0 0. AT.0|7 27 7 )b ik
48.9 8 48. 55 3. 50 0. 00 2. 00

Ve R T 3. 50 0. 00 0. 00 1. 00 0.0 957.0 0. 957.0|= > 7 U — MEfi%E [tz b xn
48.9 55 49. 12 3. 50 0. 00 1. 30
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Ve L R T 3.50 0. 00 0. 00 1. 50 8.0 0.0 0. 8.0|7 27 7 /b s
49.9 12 49. 20 3. 50 0. 00 1. 50

Ve R HE T 3.50 0. 00 0. 00 1.25 0.0 0.0 264. 264. 0| 7 A 7 7 /L N 7Aoo
49.9 20 50. 84 3. 50 0. 00 1.25

Ve W R HE T 3.50 0. 00 0. 00 2.00 16.0 0.0 0. 16. 0|7 A7 7 /b &%k
50. 1 84 50. 0 3. 50 0. 00 2. 00

Ve R T 3. 50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0| =27 U — bl
50. 2 0 50. 0 3. 50 0. 00 2. 00

Ve R 3. 50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0|z 27 U — b Al
50. 3 0 50. 0 3. 50 0. 00 1. 50

Vg R 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0| =27 U — Ak
50. 4 0 50. 0 3. 50 0. 00 1. 50

Ve R T 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0[ == > 7 U — h&fZE
50. 5 0 50. 0 3. 50 0. 00 2. 00

Ve R HE T 3.50 0. 00 0. 00 1.50 100. 0 0.0 0. 100. 0f == > 7 U — Rt
50. 6 0 50. 0 3. 50 0. 00 2. 00

Ve VAR HE T 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0f = > 7 U — Rt
50. 7 0 50. 0 3. 50 0. 00 2. 00

Ve R R T 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0[ = > 7 U — b4
50. 8 0 50. 0 3. 50 0. 00 2. 00

Ve IR R T 6. 00 0. 00 0. 00 2. 00 40. 0 0.0 0. 40.0| =7 ) — L
50. 9 0 50. 40 3. 50 0. 00 2. 00

B R G B 7.00 0. 00 0. 00 2. 00 60. 0 0.0 0. 60.0| =7 U — bk
50.9 40 51. 0 3. 50 0. 00 2. 00

e ROt B 7.00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0| =27 U — b Efidt
51.0 0 51. 0 3. 50 0. 00 2. 00
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B RGBT 7.00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. O[> 7 U — Rt
51.1 0 51. 0 3. 50 0. 00 2. 00

B R G B 7.00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0[ = > 7 U — Rt
51.2 0 51. 0 3. 50 0. 00 2. 00

B R G B 7.00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0| =27 U — bt
51.3 0 51. 0 3. 50 0. 00 2. 00

e ROt Bl 7.00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0| =27 U — b Efidt
51.4 0 51. 0 3. 50 0. 00 2. 00

Ve R U5 Bl 7.00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0[ = > 7 U — hast
51.5 0 51. 0 3. 50 0. 00 2. 00

Ve G 7 L 7.00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0[ =7 U — hAf%E
51.6 0 51. 0 3. 50 0. 00 2. 00 7 A7 7 )L Nk

Ve RO B 7.00 0. 00 0. 00 2.00 100. 0 0.0 0. 100. 0|7 2 7 7 /L bl
51.7 0 51. 0 3. 50 0. 00 2. 00

e G B 3. 50 0. 00 0. 00 2. 00 30.0 0.0 0. 30. 0|7 2 7 7 /L bl
51.8 0 51. 30 3. 50 0. 00 2. 00

Ve AR 5 BT 3.50 0. 00 0. 00 1.13 0.0 0.0 248. 248. 0| 7 A2 7 7 NEEE |50 k6
51.8 30 52. 78 3. 50 0. 00 1. 14

e WG 5 B 3.50 0. 00 0. 00 1.50 22.0 0.0 0. 22.0|7 27 7 )L EdE
52. 0 78 52. 0 3. 50 0. 00 1. 50

VB IG5 Bl 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0| 7 =2 7 7 /v &k
52. 1 0 52. 0 3. 50 0. 00 1. 50

B R G B 7.00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0|7 A 7 7 )L b &k
52.2 0 52. 0 3. 50 0. 00 1. 50

e ROt B 7.00 0. 00 0. 00 2. 00 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
52.3 0 52. 0 3. 50 0. 00 1. 50
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e WG 5 B 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
52. 4 0 52.5 0 3. 50 0. 00 2. 00
e W5 Bl 3.50 0. 00 0. 00 2. 00 318.0 0.0 0.0 318.0|7 A7 7 /L Lk
52.5 0 52.6 0 3. 50 0. 00 2. 00
B R G B 3. 50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 v R e
52. 6 0 52.7 0 3. 50 0. 00 1. 50
e ROt Bl 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /v &k
52.7 0 52.8 0 3. 50 0. 00 1. 50
Ve R U5 Bl 8. 00 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
52.8 0 52.9 0 7. 00 0. 00 2. 00
Ve G 7 L 7.00 0. 00 0. 00 1. 50 77.0 0.0 0.0 T7.0(7 27 7 /b bk
52.9 0 52.9 77 6. 00 0. 00 2. 00
Ve RO B 3.50 0. 00 0. 00 1.13 0.0 0.0 82.5 82.5|7 A7 7 )L MEREE |HH 1 246
52.9 77 53.0 59 3. 50 0. 00 1. 19
e G B 3. 50 0. 00 0. 00 1. 00 32.5 0.0 0.0 32.5(7 27 7 /L bk
53. 0 59 53.0 91 3. 50 0. 00 2. 00
e G BT 3.50 0. 00 0. 00 1.13 0.0 0.0 220.0 220. 0|7 A7 7 /b ML |0 2 245
53. 0 91 53.3 11 3. 50 0. 00 1.97
e WG 5 B 3.50 0. 00 0. 00 1.50 89. 0 0.0 0.0 89.0|7 27 7 )L Ik
53.3 11 53. 4 0 3. 50 0. 00 2. 00
VB IG5 Bl 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /v &k
53. 4 0 53.5 0 3. 50 0. 00 3. 00
B R G B 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0|7 A 7 7 )L b &k
53.5 0 53.6 0 6. 00 0. 00 2. 00
e ROt B 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
53. 6 0 53.7 0 7. 00 0. 00 1. 00
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e WG 5 B 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
53.7 0 53.8 0 7. 00 0. 00 1. 00
e W5 Bl 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
53.8 0 53.9 0 6. 50 0. 00 1. 50
B R G B 3. 50 0. 00 0. 00 2.00 100. 0 0.0 0.0 100. 0|7 2 7 7 v R e
53.9 0 54.0 0 6. 50 0. 00 2. 00
e ROt Bl 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /v &k
54. 0 0 54. 1 0 6. 50 0. 00 2.50
Ve R U5 Bl 3.50 0. 00 0. 00 3.50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
54. 1 0 54. 2 0 3. 50 0. 00 1. 00
Ve G 7 L 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
54. 2 0 54.3 0 3. 50 0. 00 1. 50
Ve RO B 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 /L bl
54.3 0 54. 4 0 3. 50 0. 00 1. 50
e G B 3. 50 0. 00 0. 00 1. 50 26.0 0.0 0.0 26. 0|7 A 7 7 /L bk
54. 4 0 54. 4 26 3. 50 0. 00 1. 50
e G BT 3.50 0. 00 0. 00 1.25 0.0 0.0 91.0 91. 0|7 A7 7 )b MEHE |iits
54.4 26 54.5 17 3. 50 0. 00 1. 26
e WG 5 B 3.50 0. 00 0. 00 1.50 83.0 0.0 0.0 83.0|7 A7 7 )L ik
54.5 17 54.6 0 3. 50 0. 00 1. 50
VB IG5 Bl 3.50 0. 00 0. 00 1.26 0.0 0.0 320.0 320. 0|7 A 7 7 /L NEALE | siE
54. 6 0 54.9 20 3. 50 0. 00 1.25
B R G B 3.50 0. 00 0. 00 1.50 80. 0 0.0 0.0 80.0(7 A7 7 /b Mgk
54.9 20 55. 0 0 3. 50 0. 00 1. 50
e ROt B 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
55. 0 0 55. 1 0 3. 50 0. 00 1. 50
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e WG 5 B 3.50 0. 00 0. 00 1.50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
55. 1 0 55. 0 3. 50 0. 00 1. 50

e W5 Bl 3.50 0. 00 0. 00 1.50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
55. 2 0 55. 0 3. 50 0. 00 1. 50

B R G B 3. 50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 v R e
55. 3 0 55. 0 3. 50 0. 00 1. 50

e ROt Bl 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0| 7 A2 7 7 /v &k
55. 4 0 55. 0 3. 50 0. 00 1. 50

Ve R U5 Bl 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 A 7 7 )L b il
55. 5 0 55. 0 3. 50 0. 00 1. 50

Ve G 7 L 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L bl
55. 6 0 55. 0 3. 50 0. 00 1. 50

Ve RO B 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 /L bl
55. 7 0 55. 0 3. 50 0. 00 1. 50

e G B 3. 50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L bl
55. 8 0 55. 0 3. 50 0. 00 1. 50

e G BT 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
55. 9 0 56. 0 3. 50 0. 00 1. 50

e WG 5 B 3.50 0. 00 0. 00 1.50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
56. 1 0 56. 0 3. 50 0. 00 1. 50

VB IG5 Bl 3.50 0. 00 0. 00 1.50 100. 0 0.0 0. 100. 0| 7 =2 7 7 /v &k
56. 2 0 56. 0 3. 50 0. 00 1. 50

B R G B 3.50 0. 00 0. 00 1.50 41.0 0.0 0. 41.0(7 A7 7 /v Mk
56. 3 0 56. 41 3. 50 0. 00 1. 50

e ROt B 3.50 0. 00 0. 00 1.13 0.0 0.0 226. 226. 0|7 A7 7 /L bEHEE [REuE
56.3 41 56. 67 3. 50 0. 00 1.13
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e WG 5 B 3.50 0. 00 0. 00 1.50 33.0 0.0 0.0 33.0| 7 2 7 7 /L sk
56. 5 67 56. 6 0 3. 50 0. 00 1. 50

e W5 Bl 3.50 0. 00 0. 00 1.50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
56. 6 0 56. 7 0 3. 50 0. 00 1. 50

B R G B 3. 50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 v R e
56. 7 0 56. 8 0 3. 50 0. 00 1. 50

e ROt Bl 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /v &k
56. 8 0 56.9 0 3. 50 0. 00 1. 50

Ve R U5 Bl 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
56. 9 0 57.0 0 3. 50 0. 00 1. 50

Ve G 7 L 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
57. 0 0 57. 1 0 3. 50 0. 00 1. 50

Ve RO B 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 /L bl
57. 1 0 57.2 0 3. 50 0. 00 1. 50

e G B 3. 50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
57.2 0 57.3 0 3. 50 0. 00 1. 50

e G BT 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
57.3 0 57. 4 0 3. 50 0. 00 1. 50

e WG 5 B 3.50 0. 00 0. 00 1.50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
57. 4 0 57.5 0 3. 50 0. 00 1. 50

VB IG5 Bl 3.50 0. 00 0. 00 1.50 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /v &k
57.5 0 57.6 0 3. 50 0. 00 1. 50

B R G B 3.50 0. 00 0. 00 1.50 100. 0 0.0 0.0 100. 0|7 A 7 7 )L b &k
57. 6 0 57.7 0 3. 50 0. 00 2. 00

e ROt B 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
57.7 0 57.8 0 3. 50 0. 00 2. 00

18 /20 R—¥




|

A
=
R
=
T

BARA 0497 BB

g = HE R
ES (BB B0, TBE: T YA m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa i U it B

e WG 5 B 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
57.8 0 57.9 0 3. 50 0. 00 2. 00

e W5 Bl 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
57.9 0 58.0 0 3. 50 0. 00 1. 50

B R G B 4.00 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 v R e
58. 0 0 58. 1 0 4. 00 0. 00 1. 50

e ROt Bl 4. 00 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
58. 1 0 58. 2 0 4. 00 0. 00 1. 50

Ve R U5 Bl 4. 00 0. 00 0. 00 1. 50 49.0 0.0 0.0 49. 0|7 A 7 7 )L b Ak
58. 2 0 58. 2 55 4. 00 0. 00 1. 50

Ve G 7 L 7.00 0. 00 1. 00 2.00 273.0 0.0 0.0 273. 0|7 A2 7 7 /L bk
71.6 0 71.9 0 7. 00 0. 00 2. 00

Ve RO B 3.50 0. 00 1. 00 2.00 300. 0 0.0 0.0 300. 0|7 2 7 7 /b %k
71.9 0 72. 2 0 3. 50 0. 00 2. 00 a7V — Mk

e G B 3.50 0. 00 1.00 2. 00 300.0 0.0 0.0 300. 0= > 7 U — hEf%E
72.2 0 72.5 0 3. 50 0. 00 2. 00

e G BT 3.50 0. 00 1.00 2. 00 300.0 0.0 0.0 300. 0|22 7 U — LEf%E
72.5 0 72.8 0 3. 50 0. 00 2. 00 T AT 7L kA

e WG 5 B 7.00 0. 00 1.00 2. 00 300. 0 0.0 0.0 300. 0[ 7 2 7 7 /b s
72. 8 0 73. 1 0 7. 00 0. 00 2. 00 a7 U — NS

B R G B 7.00 0. 00 1.00 2. 00 300. 0 0.0 0.0 300. 0| > 7 U — L%k
73. 1 0 73. 4 0 7. 00 0. 00 2. 00

B R G B 7.00 0. 00 1. 00 2. 00 150. 0 0.0 0.0 150. 0| = 27 U — bt
73. 4 0 73.5 50 7. 00 0. 00 2. 00

e ROt B 7.00 0. 00 1.00 1.75 0.0 0.0 21.5 21.5(7 A7 7 )b ML |EHeE
73.5 50 ~ 73.5 72 7. 00 0. 00 1.75

19 /20 "=




I

i

=

R
%

R
BARA 0497 HE
g = E R
ES (B Bofll, FE::H 1) m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa 1% U it

B RGBT 7.00 0. 00 1.00 2. 00 128.5 0.0 0. 128. 5[z > 7 U — Rk
73.5 72 73. 0 7. 00 0. 00 2. 00

B R G B 7.00 0. 00 1.00 2. 00 300. 0 0.0 0. 300.0| =27 U — Lg%
73.7 0 74. 0 7. 00 0. 00 2. 00 T AT 7L kA

B R G B 7.00 0. 00 1. 00 2.00 68.0 0.0 0. 68. 0|7 2 7 7 /L I afidE
74. 0 0 74. 68 7. 00 0. 00 2. 00

e ROt Bl 3.50 0. 00 1.00 1.75 0.0 0.0 35. 35.0|7 A7 7 b MEHEE |peis
74.0 68 74. 2 3. 50 0. 00 1.75

Ve R U5 Bl 3.50 0. 00 1. 00 2.00 71. 0 0.0 0. 71.0[7 A7 7 /b b &k
74. 1 2 74. 73 3. 50 0. 00 2. 00

Ve G 7 L 3.50 0. 00 1. 00 1.75 0.0 0.0 43. 43.0|7 A 7 7L MEHLE vt ks
74. 1 73 74. 19 3. 50 0. 00 1.75

Ve RO B 3.50 0. 00 1. 00 2.00 83.0 0.0 0. 83.0|7 A7 7 /L b &Lk
74.2 19 74. 0 3. 50 0. 00 2. 00

e G B 3. 50 0. 00 1. 00 2. 00 300.0 0.0 0. 300. 0|7 2 7 7 /b A%
74.3 0 74. 0 3. 50 0. 00 2. 00 a7 ) — Ak

e G BT 3.50 0. 00 1.00 2. 00 245.0 0.0 0. 245.0|=2 > 7 U — A%
74. 6 0 74. 45 3. 50 0. 00 2. 00

20 / 20 R—2




e N T T
=2
AR 0 0497 BiiE
K i
[ i 4 FR & fr 4 &K e 8 m| G %hE e[ BE) Rk | BR[| BRI i
S R T N x|
(B i, T B & Al m|(kFE: Y, FETFY) m cm cm
EE v FE T I AT - 680 3.5 0.7 1.3 6.24 635 MY (AL |PEE2IE
FE LT W7 - 3.5] 0.8 1.3
ZREE b RL JEHE T2 R 729 3.5 0.0 0.6 6. 24 430 60[FL [AV  [ER20%
JEHT T2 8 3.5 0.0 0.8
Bl N V% FEET AL 2 TR 957 3.5 0.0 1.0 4.15 639 BIFEY (AL |FEk224
AL 2T A8 3.5 0.0 1.3

2, 366




— I
A4+ 0497 B
TR |
(X i & Fr T 4 E R m | oA R OB | AR | e 8 B A
S R doiE | g | wd
(RBE R, B RS m (LB Y, FE:FD) nf
EEICT/T 16 FEEE T R AT 44.0] 3.5 o0.0] 1.5 664. 0| P CH% 2003 [BiEGfifE  [GE{THIR MEL
3.5] 0.0l 1.5 EEAT
I EIC2 54 (FB7/77) JFEEE T BT 35.6] 3.3 0.0 1.6 314. 5| A HAG 2004 [ BIGffE  [GE{THIR MEL
0.0] 0.0] 4.0 B fdiAT
g (Fv) JFEEE T R 35.0f 0.0 o0.0[ 0.8 579. 4|SRIRHAG 2003 IBiEfifE  [WEITHIR ML
12.3] 0.0l 1.5 B fdiAT
HER (EY) R R AT RTT 15.0 3.3 0.0] 5.3 206. 8| P C1f 2004 [ BiHffE  [GE{THIR MEL
0.0] 0.0/ 5.3 B AT
HEW® (TY) JEEE T R AT 15.0] 0.0 0.0] 0.8 198.8| P CH& 2003 [ BiHfifE  [GE{THIR MEL
11.8] 0.0/ 0.8 B AT
B )46 JEF T T TS L 169.0 3.5| 0.0 2.5 1,766.1|sMEEEEE 2004 | ByEffE  [@FTHIER MEL
3.5 0.0l 1.0 JHLAEAT
TREF F 4G A o 7 T TS L) 205.0| 3.5 0.0| 1.3| 1,947 5|#REEHE 2003 | ByEfiE  [@FTHIER MEL
3.5 0.0/ 1.3 MHLAGEAT
AL B S FE T i TR 64.0 0.0[ 0.0[ 0.0 256. 0| P C1% 2009 |AVEfFE [WEITHIR ML
4.0l 0.0 0.0 BT
2 H ARG JEHET - H 825.0] 3.5 0.0 1.3| 7,851 0|8fEHEE. P CHE 2003 [BiEffE  [GE{THIR ML
3.5 0.0l 1.3 JHLAGEA T
Y N i JEHET - H 447.00 3.5 0.0l 1.3 4,246.5|P CHE. A 2003 |BiEGfiE  [W@EITHIR ML
REHE TR 3.5 0.0l 1.3 ELAEHT
HEAE (EY) JERE i PNE S 18.0] 7.0l o0.0] 2.5 184.5|P C15 2001 [BiEfifE  [G@{THIR MEL
0.0] 0.0/ 0.8 AT
MEEiE (T0) FEHETH KT 18.0 0.0/ 0.0/ 0.8 184.5|P CH& 2001 [ BiEfifE  [G@fTHIR ML
7.0l 0.0 2.5 AT
WG (EY) FEHET R TR 24.6| 3.5/ 0.0/ 2.5 356. 7| P C#& 2004 IByEfiTE [WEITHIR ML
0.0] 0.0] 8.5 AT
HHEfE (FY) FEHETH KT 24.6| 0.0 o.0] 11.8 430. 8| P CH% 2004 [ BiGfFE  [GETHIR MEL
3.5 0.0l 2.5 B AMAT
FEEICT T KG FEHETH R 28.7 3.5 0.0 2.5 416.2| P CHG 2003 [ BiEHfifE  [GEATHIR MEL
3.5] 0.0l 2.5 AT

1/4R=2




—_— R
HRRA 0 0497 Bl
g B
B4 i CA & T 4 E R m | A WEFE R OV | EEBRAEIR | it B i &
R B B | s | @A
(B b S, B A m |(EE: Y, FE:TFY) nf
FA LS (1Y) FE T I S W R R 1L 35.0 3.5 0.0 0.5 290. 5| SHVA A 2005 | BiEfifE [WITHIR ML
3.5| 0.0/ 0.8 AT
A1 E 2R P R T s R AR 537.0[ 0.0 0.0 1.2| 5,351 O|VEHAE 2008 (ByEfifdE  [@FTHIBE MEL
7.0l 0.0] 1.1 HLHGEAT
R Ve B R T v S AT 82.0| 3.5 o0.0] 0.3 779.0| P C1& 2009 | BiEfifE  [WEITHIR ML
3.5| 0.0l 0.3 LG AT
AR FEEE T AT 42.0( 3.5 0.0] 1.8 441. 0| P CH& 2009 |BYEffE  |EBATHIR HEL
3.5| 0.0l 1.8 B AfiAT
KT (F9) JEF AT R R TR 74.5] 0.0 0.0 0.8  763.6|5HAHNE 2005 | BiEME |ETHIR HEL
7.0l 0.0 2.5 JHLHEAT
Ktk (k9) FEHE T I R AT R TR 74.5 11.2| 0.0 1.5| 1,165. 9| 2005 | BiEFE |EATHIR HEL
0.0 0.0/ 0.8 JHLAEAT
FEHIC3 S48 (1Y) FEHETT R TR 18.9| 3.5/ 0.0 2.5 193.7|P CH& 2001 (ByEfifE  [(@FTHIBR MEL
3.5| 0.0l 0.8 EAffiAT
FEEIC3EHE (F D) [ER D NE = 18.9] 7.0 o0.0] 0.8] 274.4|PCHE 2001 |ByEfidE  |WATHIBR MEL
4.3 0.0 2.5 EHfAT
g (ED) JFE TR 26.7| 14.5( 0.0 2.5 473.0| P CH& 2007 |BYGfTE  [EITHIR  MEL
0.0 0.0/ 0.8 AT
Bk (TY) T TR 26.7| 0.0 o0.0[ 0.8 387.2|P CH& 2007 |BUGffE  [W@ITHIR HEL
11.3] 0.0l 2.5 AT
MEEEE JE R R 111.4] 3.5| 0.0 1.2 1,037 1|80iaH:4E 2007 |BiEfE  [@AITHIR L
3.5 0.0 1.2 ELAGEA T
ST TG R HET 28 R 22.5| 3.5/ 0.0 L7 229.8| P CHf 2007 [BYEfTE  [@FTHIR ML
3.5 0.0l 1.7 AT
A JE T 52.9] 3.5 0.0/ 1.3 489. 9|SMYAHENG 2009 |BYEfTE  [@AITHIR L
3.5 0.0l 1.3 AT
AT KA JE e R 348.0| 3.5 0.0 1.0| 3,239.9|HEHAR 2009 |BUGfidE  [WATHIR MEL
3.5 0.0l 1.0 AT
R G JEEE T R 133.0 3.5 0.0 1.3 1,238 2|8MiatEtE 2010 |BY&farE  |EATHIR MEL
3.5 0.0l 1.3 AT

2/4R=2




—_— R
BARA 0497 BliE
g B
B4 i CA & T 4 E R m | A BREL ORI, | BERER | Wt B i &
R B B | s | @A
(B b S, B A m |(EE: Y, FE:TFY) nf
MR JE T AR REH 74.5| 3.5 0.0] 1.2 674.0| P CHf 2011 [Bi&fifE  [@ATHIR AV
3.5| 0.0 1.2 B AAT
A JEEE T R 14.0f 3.5/ 0.0 1.8 159. 6| P CHf 2009 |BYEfrE  |EBITHIR MEL
3.5| 0.0 1.8 B fdiAT
H R EERG T A R 48.0[ 2.0 o0.0[ 0.5 240.0| P CH8& 2009 |ATEfTE  |WATHIR HEL
2.0 0.0/ 0.5 HLAGEAT
RVA= i T T2 18.5| 3.5 0.0 1.4 194. 4| P CH 2009 |BiEfFE  [@ITHIR AV
3.5| 0.0 1.4 B AT
WA T T2 50.0/ 3.5 0.0 1.4 525. 0| P C#& 2011 |BiEffE  |@ITHIFE AV
3.5| 0.0 1.4 B AT
KEFFE BT T 2 45.0( 3.5 0.0] 1.4 473. 0|l 2t 2010 |BYEfFE  [@ITHIR AV
3.5| 0.0 1.4 B AT
SYE N R HETH T % 28 45.0[ 3.5 0.0 1.4 472 1|EEVAEAG 2010 |BY&ME  [WBATHIR AV
3.5| 0.0 1.4 EffiAT
T2 5 (L] A R T2 39.5 3.5 0.0 1.8 414. 8| P CH% 2010 |BYEfTE  [@ITHIR L
3.5 0.0l 1.8 HHfAT
T H 5 LT L 55.0/ 3.5 0.0/ 1.3 509. 3|HiAHAG 2010 |BUGffE  [WITHIR L
3.5 0.0l 1.3 AT
S G FEE T 92.0 3.5 0.0/ 1.1 852. 1| P CHB& 2008 [BI&fifE  [@ATHIR ML
3.5 0.0l 1.1 AT
ANEEE (BY) FEEE AL % EoFER 27.5| 14.8] 0.0[ 0.0 406. 3| P C1 2007 [BI&fiFE [E@ATHIR  HEL
0.0 0.0/ 0.0 AT
ANEERE (R D) FEEe AL % B 25.5| 0.0l 0.0 1.2 409. 9| P CH& 2007 [BiEfTE  [@fTHIR ML
16.1] 0.0 0.0 AT
TG R AL 20T L 258.0| 3.5 0.0| 1.1| 2,545.0|P CH&. SHIEHEAG 2013 |BUGfrE  [W@ATHIR HEL
3.5 0.0l 1.1 EREAT, EAGEAT
(e S PN FEFETAL I L HTT & B 264.0/ 3.5 0.0 1.3| 2,444.6|P CHg 2011 [BY&fifdE [E@ATHIR  MEL
3.5 0.0l 1.3 HEAT
B0 KAE 7 BT g 2 BT 4% 1 248.0| 3.5 0.0 11| 2,299.0|8EEE 2014 |BUGfifdE  [W@ATHIR MEL
3.5| 0.0l 1.1 AT

3/4R=2




- oW
BARA 0497 BliE
TR |
(X i & Fr & T 4 E R m | oA WEFE R OV | EEBRAEIR | it B i &
S R doiE | g | wd
(B b S, B A m |(EE: Y, FE:TFY) nf

TR 115G 7 BT R i 22 T oy B 82.5| 3.5 0.0] 1.1 777.9|P CH& 2014 |BYEfTE  [(@EITHIR ML
3.5| 0.0 1.2 HEHT

R 2 HiE 7 B P i 22 T oy B 220.0| 3.5 0.0| 1.1| 2,224.2|PCHE 2016 |BYEfTEE  [(@EITHIR ML
3.5| 0.0l 2.0 HLHGEAT

A 7 B P i 22 T i 91.0| 3.5 o0.0] 1.3 873.6|P CH% 2014 |BYEfTEE  [(@EITHIR ML
3.5/ 0.0/ 1.3 LS AT

F 5 47 B P ik 22 T i 320.0] 3.5 0.0] 1.3 3,043.2|P CHE 2016 |BYEfFEE  [(@EITHIR MEL
3.5 0.0 1.3 HREAT

JF B 7 B P i 22 WY R R 226.0] 3.5 0.0 1.1| 2,092. 8|5HEHEAE 2016 |BYEfFE  [(BEITHIR  MEL
3.5| 0.0 1.1 JELHEAT

BHEAG 5 B (LR AT S 21.5| 7.0 0.0 1.8 408.5| P CH& 2014 | BYEffE  |EATHIR HEL
7.0l 0.0 1.8 B AT

PEARIE A 5 BT (LR BT S 35.0 3.5 0.0/ 1.8 367.5|P C1& 2014 | BYEfE  |@ATHIR #EL
3.5/ 0.0/ 1.8 EffiAT

VeI KA 5 BT (LR BT S 43.0l 3.5 0.0 1.8 567.0| P C1& 2014 | BYEfE  |E@ATHIR HEL
3.5 0.0l 1.8 EHfAT

53

4/4R—=




N ok B

» PRIEEE b DA =T E

e
B4 - 0497 HlE

X1 1 & T 4 Pl F 72 I HTEREIE D4 =Y E E = Hihe (m) £721% fits
xR R P ()

m m
AT AR R JEREN ) SRR 16.5 15.0 10. 00 E & A3 |-

(€S53




. S-S N

B3
T RE AR
o o
S R R E K B4 0497 5% ] WO E ]mumﬁ%ﬁ%%
PR O TE (GRE) 45 A B TR 120 |HEE (BIE) O3 ST ‘iEE%YiE%B%lIEl o
A | BRI S EET RSl 2 T + B 7 BRI

B oE

FE S IR SRR TR T 4 R TR e 5 R R

KRR OIEE (m) 2,076 ft B oo XKW K OHE A H
XN TN 3% Yk :% 2, 076 | = AN T i A BT ¥ 2 5o 74l / 7T
RIOIESR (M) | a0 g S R A T S 1
L XN TW AWK O E WRR2TAESH 140 (FUM b 534 R 45 R 4538 1)
B A W (m) N % & Vi N e
R 2,005 &% | #EE (m) | FE¥H B2 IERE (m) i 5 i3 e
D E 0 0 KNG 2 71 | EE (m) | Y % EITHEEE (n)
I | Ik K 5 0 0 0 0 0 0
kK BENE 0 0
DD &t 2 71
ol BOWE 9.0A— kALl 5 5A—RALLE | 4.0A—RARLE 4,04 — kLA
5 T oD FEFE (m) 9.0A— hJLRH (m) 5.5 A4 — M LA (m) (m)
w|R G S 18 0 2,076 0 0
h H) 1H 0 0 0 0
At 0 2,076 0 0
HENEAZBAREXEOLELE  (m) 0 REFED I 8%
EEo  [E H M| A Ik RO H 2 ol gy | LARE . BIE 0
B Hh (nt) wFH () () (nd) s 0 o #E= B0
D =¥
ﬁ*f NP 7N
) 106, 667 0 106, 667 IR 0
R/ NHIEEE & AT B/ RS (m) & pr 2 Ane (%) & AT
7.0 74.8 45 500. 0 76. 2 64 5.9 175.5 0
X B E K (m) (= o & IE BN A
GliF
Bt WEE DOWNER HOK NS S B TEMRIE R
D Ft% (m)
E 9. 0f=W 5. 50=MVEL E 4. 04=MVEL E 4. 0p=hV
LIk 9. 0f= VAT 5. b A= VAT S
B ey oprom i s Wi WO B & AU B AR O A
HE g (m) | BFEAK
i




" 1
e
]

B & 2 Hfeda 2 1B 7 oo AR DR

HE 2 O =2 5 W O

T OMFFRL Y N FIH

PR (ET) A H




e F O KO F
B
R4 0 0497 BliE
] = HE R
X (BB B0, FBe: T 0 M) m m HINAE £ I T O TS fii
HOGE | A& E | oBER | B OF | B K | hrxa 1 T e 3¢ 7
m

Rl AT T 3.50 0. 00 1. 00 2. 00 55. 0 55.0 55.0(= > 7 U — RadE
74.8 45 74.9 0 3.50 0.00 2. 00

el AL T T 3.50 0. 00 1. 00 2. 00 200. 0 200. 0 255. 0|2 > 7 U — M
74.9 0 75. 1 0 3.50 0.00 2. 00

TRl AR T T 3.50 0. 00 1. 00 2. 00 300.0 300. 0 555. 0]t 77 U — bk
75. 1 0 75. 4 0 3.50 0. 00 2. 00

TRl VAR T T 3.50 0. 00 1. 00 2. 00 300.0 300.0 855. 0| =27 U — Mk
75. 4 0 75. 7 0 3.50 0. 00 2. 00

FRe W VRAR TR T 3.50 0.00 1. 00 2. 00 200. 0 200. 0 1,055. 0[= > 7 U — Rk
75. 7 0 75.9 0 3.50 0. 00 2. 00

FRe W VRAR R 1 3.50 0. 00 1. 00 1.75 34.0 34.0 1,089.0[7 27 7 )b MahidE | 44@imms
75.9 0~ 75.9 34 3.50 0.00 1.75

Rl AT 3.50 0. 00 1. 00 2. 00 66. 0 66. 0 1,155.0(= > 7 U — Raj%k
75.9 34 76.0 0 3.50 0.00 2. 00

Rl AN 3.50 0. 00 1. 00 2.00 300. 0 300.0 1,455. 0|2 > 7 U — bl
76.0 0 76.3 0 3.50 0. 00 2. 00

Tl Y AR R T 3.50 0. 00 1. 00 2. 00 180. 0 180. 0 1,635.0[=2> 2 U — K%k
76.3 0 46. 4 80 3.50 0.00 2. 00

Feligg VAR R T 3.50 0. 00 1. 00 2. 00 39.0 39.0 1,674.0|7 27 7 L b ifidk
76. 4 80 76.5 19 3.50 0.00 2. 00

Rl WA T T 3.50 0. 00 1. 00 1.75 37.0 37.0 L,711. 0|7 2 7 7 v MEl%E |50 AbiHG
76.5 19 ~ 76.5 56 3.50 0.00 1.75

el AL T T 3.50 0. 00 1. 00 2. 00 44.0 44. 0 1,755. 0|7 2 7 7 /1 b &k
76.5 56 76.6 0 3.50 0.00 2. 00

Rl AL T 3.50 0. 00 1. 00 2. 00 300. 0 300. 0 2,055.0(7 27 7 v ik
76.6 0 76.9 0 3.50 0. 00 2. 00

1/2~R=>



— =
o £ O E OH O&E
2
R4+ 0497 BE

& 8 HiE 5
X ] (BB Evfal, TE: T o) m NN AE £ & 1H O FEIA fi
T | A 57 By ¥ 8 SR - I NN 7 & T Fi it 5%
m
e BN 3. 50 0. 00 1. 00 2.00 21.0 21.0 2,076.0|7 2 7 7 v Nafidk
76. 9 0 76. 9 20 3. 50 0. 00 2. 00

2/2R—=




3 =+ 1.1
Fin B
%w% *IFJ FIH =
BRARA - 0497 BB
|
X i Z & Fr 4 i K m [T SRR O | R | MR £ ) -
R #oi | A | BIE
(Bl B, B s Rl m (B kv, FEE:FY) m
e AR Il IRy VAR TR T A f T 34.0] 3.5 0.0 1.8 386. 6| P C#5& 2011 | ByEfifE  |@ATHIR ML
3.5 0.0l 1.8 AT
Lt NAERS IRy VAR T T 4 ks T 37.0] 3.5 0.0 1.8 444, 4| P CH5 2014 | BYEfFE  |E@ITHIR ML

3.5 0.0 1.8

R AT




	第一表（表）497号現道
	●
	第一表（裏）497号現道

	●
	第二表(497号現道)

	●
	第四表(497号現道)

	●
	第一表（表）497号現道

	●
	第一表（裏）497号現道

	●
	第二表(497号現道)

	●
	第三表(497号現道)

	●
	第四表(橋梁)497号現道

	●
	第五表(497号現道)

	●
	第一表（表）497号現道

	●
	第一表（裏）497号現道

	●
	第二表(497号現道)

	●
	第四表(橋梁)497号現道


